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MATHS

BOOKS - NTA MOCK TESTS

AREA UNDER CURVES TEST

Single Choice

1. Let the area bounded by the x-axis curve

8
Yy = (1 + —2) and the ordinates x=2 and x=4 is A
T

sq . Unit and if the ordinate x=a divides the area


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_IadeqhR3B1Bd

into two equal pairs, then the correct statement
among the following is

A. A=3 and a=2

B. A=2 and a=1

C.A=4y2anda = /2

D.A =4anda = 2¢/2

Answer: D

° View Text Solution



https://dl.doubtnut.com/l/_IadeqhR3B1Bd

2. The area bounded by the curvs y = |z| — 1 and

y = — |z| + lis (in sq. units)

Al

B. 2

C.21/2

D.4

Answer: B

° View Text Solution



https://dl.doubtnut.com/l/_UM8gJpBHZCGH

3. The values of m for which the ara of the region
bounded by the curve y = z — z® and the line
y=mx is equal to 3 sg.units are

A —5,1

B.—2,4

c.2, —4

D.—4,3

Answer: B

° View Text Solution



https://dl.doubtnut.com/l/_bmS3ixt7ueOM
https://dl.doubtnut.com/l/_4hxOfsTcPGPy

4.The area of the region
{(2,9),0<y<e”+1,0<y<z+1,0<z <2
is

23

A. — sqg. unit

23 :
B. — sq. unit

23 :
C. — sq.unit

23 ,
D. — sq unit

Answer: D

° View Text Solution



https://dl.doubtnut.com/l/_4hxOfsTcPGPy

5. If the area of the region bounded by the curve

7r
C = y = tanz, the tangent drawn to Cat z = 1

k 1
and the x-axis is 10 (10g2 — 5)’ then the value

of kis

A. 5
B. 10
C.2

D.4

Answer: A

° View Text Solution



https://dl.doubtnut.com/l/_dlzaTmqpvlxg

6. The area of the region bounded by y* = 4az

and 2 = 4ay, a > 0in square units is

16a>

A. sg. units

14a2
3

13a2
3

B.

sqg.units

sg. units

D. 16a%sq. units

Answer: A

° View Text Solution



https://dl.doubtnut.com/l/_n8LYnIBXAPey

7.The area of the region bounded by 1 — 3* = |z|

and |z| + |y| = 1is

»
Wk Wl w| oo

o
| —

Answer: B

° View Text Solution



https://dl.doubtnut.com/l/_5P3kk67SUN9P

8. The slope of the tangent to the curve y = f(z)
at(x,f(x)) is 2z + 1. If the cuve passes through the
point (1,2) then the area of the ein bounded by the

cuve the x-axis and the line x=1, is equal to

A > it
- % 5. units

B. — sqg. units
6 q

1
C. — sqg. unit
g Sd- units

2

D. — sg. units
5 q

Answer: B

O View Text Solution



https://dl.doubtnut.com/l/_NTaPwcREe6t5

9. If area bounded by the curve y = em2, x-axis and
the line x=1 and = = 2 is a sq. units then are
bounded by the curve y = y/Inz , x-axis and the
linex=e and z = e*is

A.( 4—e—a,)squnit

B. (2 f_e— 20,) sq.unit

C. (264 —e — a) sg. unit

D. (264 — 2e — a) sq.unit

Answer: C

O View Text Solution



https://dl.doubtnut.com/l/_geVOi3ElMvsW

10. Through any point P(z,y) of a curve which
passes through the origin, lines are drawn parallel
to the coordinate axes. The curve, given that it
divides the rectangle fromed by the two lines and
the axes into two areas, one of which is twice the
other, represents a family of

A. circles

B. parabolas

C. hyperbolas

D. straight lines

Answer: B


https://dl.doubtnut.com/l/_U2Gr1DwGdleZ

° View Text Solution

11. The are of the region {(z,y), z° < y < |z|} is

A.1/3 sqg. units
B.1/2 sq. units
C.1/4 sq. units

D. None of these

Answer: A

° View Text Solution



https://dl.doubtnut.com/l/_U2Gr1DwGdleZ
https://dl.doubtnut.com/l/_Lh8aOQ6WGS6n
https://dl.doubtnut.com/l/_cDbxS7Mk8u7s

12. The area bounded by the graph y = |[z — 3|,
above the x-axis fromx = — to x=3 is ([.] denotes
the greatest integer function)

A.7 sq. units

B. 15 sq.units

C. 21 sq.units

D. 28 sq.units

Answer: B

° View Text Solution



https://dl.doubtnut.com/l/_cDbxS7Mk8u7s

13. The area bounded

y= f(z),y =« and the lines z =1,z =1t is

(t+ 1—|—t2) — /2 — 1 sq. units for all t > 1. If

f(zx) satisfying f(x) > x for all x > 1 then f(z)

is equal to

T
V1 + 2
_*r
V1+a?
x

V14 x?

Z

V14 x?

Ax+1+

B.x +

C.1-+

D.

Answer: A

‘ ° View Text Solution


https://dl.doubtnut.com/l/_WwCtykAhTI0K

The area bounded

by

the

curves

J0zl = 4/lyl = Vaand z® + y* = a®,a > 0is

2
A. {7m2 — Eaz} sg. units

2
B. {27ra2 — %} sg. units

cfri - % fan
.q Ta 3 sqg. units

D. None of these

Answer: A

° View Text Solution



https://dl.doubtnut.com/l/_WwCtykAhTI0K
https://dl.doubtnut.com/l/_CJ0dS50zR5cF
https://dl.doubtnut.com/l/_dFs6XxNQIrfF

15. The ara of the region bounded by the straight
lines x=0x=2 and the curves

y=2%y=2c—2a’is

A 3 4 "
: — — ] sq.units
log 2 3 q

B. ( 5 + é) sg. units
log 2 3
3 2 _
C. (log2 E) sg. units
3 1 ,
D. (10g2 5) sq. units

Answer: A

O View Text Solution



https://dl.doubtnut.com/l/_dFs6XxNQIrfF

16. If the area above the x-axis, bounded by the

curvesy = 2" ¢ = 0and z = 2is sg. units

log 2

then the value of k is

D. 2

Answer: B

° View Text Solution



https://dl.doubtnut.com/l/_lImpYDQDK7kR
https://dl.doubtnut.com/l/_Dp3MvrpyOopY

17. The area of the region bounded by the curves
y=|r—2landy =4 — |z|is

A. 2 sq. unit

B. 4 sq.unit

C.5sqg. unit

D. 6 sq. unit

Answer: D

° View Text Solution



https://dl.doubtnut.com/l/_Dp3MvrpyOopY

18. The area bounded by the curves

y = sinx, y = cos ¢ and y-axis in first quadrant is

A. (\/5 — 1) sg.unit
B. /2 sq. unit
C. (\/5 + 1) sg. unit

D. None of these

Answer: A

° View Text Solution



https://dl.doubtnut.com/l/_6ol63yxygc1u

19. The area (in sq. units) of the region described

by [(ar;,y):y2 <2andy >4z —1]is

9

32 sg. units

‘39 sq. units

ey —-5sd. units

15

64 sg. units

Answer: A

° View Text Solution



https://dl.doubtnut.com/l/_1CJyfYzacqSh

20. Area bounded by the cruve y=six and x-axis

between x=0 and x = 27 is

A. 2 sqg. unit

B. 4 sq.unit

C. 8 sg. unit

D. None of these

Answer: B

° View Text Solution



https://dl.doubtnut.com/l/_bCmkF8mWvD9m

21. Area bounded by under the curve y = v/3x + 4

and x-axis between x=0and x = 4 is

A 56 "
-9 59-uni

B6—4$ unit
9 g.

C. 8 sqg. unit

5 112 "
. g squni

Answer: D

° View Text Solution



https://dl.doubtnut.com/l/_vMUFKk4DmTQ1

22. The area included between the parabola

% nd th 8a”
= — ah e curve —
YT 4a Y (22 + 4a?)

is {a > 0}

(in sq. units)

Answer: D

O View Text Solution



https://dl.doubtnut.com/l/_tu5PreM0uv67
https://dl.doubtnut.com/l/_8ffsQkhBauwU

23. Area enclosed by the curve y = f(x) defined

parametrically as =z = Y =

equal to (where t is parameter)

A. T sqg. units

B7r it
. — sq.units
5

3
C. T
3
2

sqg.units

sg. units

Answer: A

° View Text Solution



https://dl.doubtnut.com/l/_8ffsQkhBauwU

24. The area of the region enclosed by the cuves

y = zlogz andy = 2z — 2z° is

D) sg. units

B L it
- 5'59- units

D) sg. units

D. None of these

Answer: A

° View Text Solution



https://dl.doubtnut.com/l/_H3GhY3uu6Gii

25. The area of the closed region boundedby

y=sec 'z,y=cosec’! x and the line

x—1=0is
T .
A. {loge (3 + 2\/5) — 5} sq. units
™
B. {5 — log, (3 + 2\/5)} sg. units

C.m — 3log, 3 sq.units

D. None of these

Answer: A

° View Text Solution



https://dl.doubtnut.com/l/_FTt88eIjH7of
https://dl.doubtnut.com/l/_4LQV5taZ56wL

26. The are of the closed region whose boundaries
are defined by the curves y = 2cosz,y = 3tanz

and the y-axis is

2
A ¢ 1+ 3log| — sg. units

3

B. {1 + Elog?, — 310g2} sg. units
3 :

C. {1 + 510g3 + log2} sg. units

D. {log 3 — log 2} sq.units

Answer: B

° View Text Solution



https://dl.doubtnut.com/l/_4LQV5taZ56wL

27. The area bounded by the
o’y = z*(z + a) and the x-axis is

A @’ sd. units
-3 g.

B a” it
. — sqg. units
1

C 3¢° sd. units
7 g.
a2

D. 13 5% units

Answer: D

curve

° View Text Solution



https://dl.doubtnut.com/l/_4i7G6K90ltXj

28. The area of the closed figure bounded by

z?
= — — 2z 4+ 2 and the tangents to it at

(v

|

2
) and (4,2) is

Do |

A. — sg.units
8 q

B. — sq. units
3 q

C. — sq. units

2

D ) it
7 Squnits

Answer: A

° View Text Solution



https://dl.doubtnut.com/l/_YE34FvysGy8I
https://dl.doubtnut.com/l/_yhFMEtfCUdz4

29. The are of the closed figure bounded by

—x2 42 <1
x= —1l,x =2and y = e rs and
20 — 1 x> 1
the x-axis is
A 16 "
. — sd. uni
3 sg. units
B 10 it
.?Sq.unls
C 13 it
.?Sq.unls
D 75 units
3 g.
Answer: A

° View Text Solution



https://dl.doubtnut.com/l/_yhFMEtfCUdz4

30. The value of the parameter a such that the aea
bounded by y = a’z> + ax + 1, (a £ 0),
coordinate axes and the line x=1 attains its least

value, is equal to

A 1
4

. 1
2

c 3
4
D.—1

Answer: C

° View Text Solution



https://dl.doubtnut.com/l/_A7OSRVKYfKoR




